for SNMP? (10%)

4. Compare the IPv4 and the IPv6 header fields. (10%) Do they have any fields in common? (5%)
It was preferable to transport SNMP messages in UDP datagrams. Why do you think the

designers of SNMP chose UDP rather then TCP as the transport layer protocol of choice
Why is it said that FTP sends control information “out-of-band” ? (5%)

What is the hidden node problem? What is the exposed node problem? (10%)
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M4 (100%) :

1. What is an important difference between a symmetric key system and a public key system? (10%)
2. Consider two mobile nodes in a foreign network having a foreign agent. Is it possible for the
two mobile nodes to use the same care-of address in mobile IP? Explain the reason. (10%)
3. Use examples to explain and compare the following algorithms:

A. Distance vector routing algorithm. (10%)

B. Link state routing algorithms. (10%)

recovery. (20%)

Explain the TCP congestion control mechanisms: AIMD, Slow start, TCP Reno and Fast
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